A22633T o1F Hi24z=¢l 2015. 9. 13
i o rHx F oo A 2 =AS(KHHIAEOLL)
@ FCHE HI== 1 BERAS : HI|RA(HLE)
Qe Al =N 2 EEAS HES(EIELS)
& m 2 3 :ol=o|(Dt2&et
o=l 00 O O SFE(EHAD
1 AE jl:!é: l—
YeiT AR 720 (ZWOF: www.cdsdorg) P s il
AIRAL 3447-0750~1 TMA: 3447-0752 ol 2 5 &: 2 010-5411-5837
FUDIAF | ERY 15A (ES5), EQ ME0IAF: 19A1/ T : 6Al, 9Al, TTAI(ERSOIAD, 15A(EDSSY), 17Al, 19Al
BAUOIA |8 ~ E:6A /8~ 310 /32 319N | pamp |- == 0l & 302
- o = = = o 2w JJAt & 158
2 A4 A | Y S 2L 10Al DIAF &
ACISH | 12 SW EQY 17Al SOLAlE Ex 2 M ELQRY 17A

© HIO[Al &Y ot (2F 8Al)

T A A 3 A g A
] 7,84k | 9/15 |  AHgHlE} A- 402 010—2701—3758
5,64 | 9/17 | APFFL @ 105603 | 010—3755—0465

,]
A Sl 1%
38ty 71533}/\114.”

® é%IE BlLIC}

* ARAISE 2559 273EE o3l FYUANFE Y
°=‘v‘=-’r7bl 27& A3l 9EES] B2 7|=8gyTh

* 23} UAL 1 0¥ 16Y9 () 114 / HEAT

® FM BtS fIG0lAl M3 L OJARAIZE QLY

* 0¥ 27%(%‘—%1) <3 ﬂ%‘%ml Z’H?J"]‘ﬂr.
ojdd T AANA ZALES 98 T
AFAZ BAFPYL mjAl AL 9% 204(FY)
7HA) AFFAR &) FA17) vy

* HIALAIZE ¢ 6A], 9A], 11A], 2554,

* 114 vlA} & A= vEx| Q54U

@X|st1S S85A

* ZE 24 94 134 (LF) 104302

* FAPIZE U] 2354 a9-EEA4 ZAEHYTL
AFHAL F FEZX7F 5 UT

@ 83 222! MEIAt H 1SHMHAL
* YA F A4 0¥ 19Y9(E) &F 8A] / AT

@NIHILII HAA (20164 38 ME6Y)

* YAl D A4 109 4Y(FY) AL 3/ R

%

! Azt 2 B4 M

ol

et

-{x (o

QY | 23 800 / A=ZdY | HFAIR
2K 930 / AT | Mg | st

||'| ﬂ.lgm

2 A (11X 7 MSCch3)

949 19U(E) 11A30% A=

P EDEE 2 ANEE AT

W 3é}bﬂ~6i}bﬂ (F7h 31

PR 2 29 A T2 (010-3381-9450)

(% ol &7 ofelmAl: flsyth)

© 4ASAAA OIFHE ¢et 5L ot

* GAl g gL 98 174(H) 104" &/ TR

* ZFAE D B AL Q8 AR (AR TiE)

@ Z of7tdiol (x=59)

* UAl R g4 99 16U(F) 1041408 / Wl
s 948 H==dl: 156,

T

ZJ—/\

®=
*
*
*
*

283

152

@g HIMIAI2 O HIREE] 3 DE
Al Hoz A9 HAH ZAHo| A oAl
TS = HE S53YY P4 sidez A
EE EE Be #T Foulgyd

: 783 2da (010-8705— 4826)

B IR P4

* —.—_,]
® M.E SM& H180X F
* YAl 2 A4 99 20%1_(12—%1) 9_—‘?6’\] | ARG

AR S ANZE, F2F TR 2T}
dinie o{3 S£3| 20X} s+ M2 ZH7|
AA] 99 19YU(E) 8:30 AZ=(3u):19539)
2 HSHE - GA-A AT

dgx A =uYFt (010—3297-6738)

A1ots| M[35X A (=4AF CHEA) -MEHE=40Y
UA 2 2L 10¥ 3Y(E)6:40 / AZwtd
+ THE @ 38 (499-F4 4 4AF), A3
* A A A= LF (010-8592—-7514)
© HIE 53| 2 (=EX #Y)

* AA] 2 A4 ) Y 134 / 5@ & AAMYE301%
* AFA : Y= o= o}l (010-2710-4725)
© =20} Z=3| 93 °°*il oY 3 ZEOHY

*
®
*
*
*
@

-2014 ¥A2FU & QEX 20 HELf-
=43 273 = %9
W | 98 BURY wFIRtE | 9H17US) 25 8A]
B | VY (MRS | ded g EMES
@ 423 J|30i3 AF Eoj
» QA 2 FA 99 13Y(L2%) / AER
x 2 . 7;&01 FEYo], A3, A, AFHF7
A5z, 4% 5
© w2ldl ALZSAIE et 1 FH7H HESHMR.

© 93 13¢(2E) @ MAPIL 2x18Z ASLICH
® 9¥ 14Y4(9) : HAH7NE3 (AL : ol BERX )
® 99 159(3}) : JAHCu/AR Az 3)/AH &3
® 9€ 16Y(F) : WA L3
® 9¥ 17¢(F) : 95 / GAYuY / viE 3
® 9¥¢ 18YU(F) : GAAA =3

- gH: 502, 501, 181 A 406

s

Li====H A 2




1. Wel& A2 20N S0 SHo B85S 2 AR5t AS /XO2 I,
AHEQI AlRS Z2EHLICH
Csh, 2U8AI US 2R = SHHESELG RHA22 AU
2. W, UEr)| AFRAl welAlo 25= HARSTE SXELILCH
* SHEDJ| 4 g (25°C)
* S| LHe(18°C)
3. WA AI20| 292 Mol= BIEA S L WH-pe)|o M2 N §AHH
MYl E JIXD U 2elaHE o @5LICH
4, 2N A2 & - HAS X AH F=AID|l HHELICH
5. Wela Wole RS S2R(AIH, €8, HE2, %X, 3H S)2 360, ZAH, et
XA AHAIES ALE8HLU LY.
6. WA AISES HIEO M2t AFR56tD SHHI2 ZHOILE BHEAl AFRAIN AFR 22D
gLt
7. M2lA! AISE0l= AAZXI GOBR ASE SO Tt AT = FostLICH
8. mM2lAl LHO HIE (M4 oINS AEZ 0SSN LsLUC
9. W2lAl0| sHAt Kl AEHUIZ & SXIE0 TS SHIDE HIZ AIRE 4 UEZ 5t FAID
HIZO0l Sl Xl T2 =56t F=AID| HFELICEH
¥ ASE, AZAY(XGEY) AIRE Dela AFRXE0 =S L.
—F AR
& FRACHA AEOHLY
NAaTels 2ol 809101-04-166234 (M)MZZAMSCHzaF
T334y 232 1005-002-459371 ()M =2 AML&cijmF
HIXIA| @ 3] (L 2| ) 91 809101-04-164029 ()M FuAMgche
Ht H 3 (HeX|¥) 3tLt 843-910006-15404 (AM)HZF B AMSciid ¢
2 ot g 3Lt 843-910006-64404 (M)HM 22 AMSciaF
A2 (EME)SE S 3tL 843-910002-97705 (M)MFZAMSCHzF
AEI2]2 AMHEES) 223 1005-102-087917 (M)HF oMo
& XL F aEQ] Y
£ Hd & Z A 2 (9% 8% A g T wHY
W F = ]22,535,00007 w) =4 7H600,000] 4 ~"a}|100,000] % M4 | 3,688
FABHF [10,988,810 ] ]
o] o}}bA) £ (100,000 & ZAF | 100,000 &= g¥Ad | 1,229
An[FF 22135 | 5,786,850
A XA (1,000,000 [ ] Stephen| 100,000 | AFF EEAH 6
27 BHALE- | 1,740,000
AAEAZ (67)| 305,000 & A 2,000,000 |[AdFERE(%| 33.3




